I

CHEEN

i
\

— - —
e )

Q. WC can St eacrgy 4o solve  fhig Fuomj_w,r?? S feade el
PE s g.,-\\/br'("—‘a A” ’\A_+q y"Ea Le"' l/‘w_': ‘rJ 5.0‘_

S * 2
Mafrs 23R e dny

\ kS \ Q3
= e e _ *
_m; _f ol .L'LQ Lqr S

-
1

—éo"[]«rﬂf”]

VoL ] €1 =
Mar = 2 [th +-mf]

29,1 5t

=2 il J ‘
= w =2 taé

2 3r 21y ’;CLI

: = 7205 N _ L wis
oL Triwer 12T s L'?L"“"L(ﬁ"\;\’- e

{ ; ) -’50“)'!\4/1&5} Yecavse  w ¥moy  Hare K A c‘\’\'\'T‘\’[ﬁ"r"n\ -

OQ 4 e V\\-x) A o ‘5‘% M ‘“r\q' n 0\‘\\1

\—E‘ Qe Qlacedo™ m Toon  dA nﬂ(\) as Well o5 o Fcce
J

ZFc: oo Tl =

Yh
TEEYF T —watet e —
ol W "MW P |

. == =m¥m3 L
=m30%) [Fer- 3291 = A3 P —




